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Find the average of the prime
numbers between 40 and 80.

40 IR 80 @ oI IJUTSY I DI
3 STd B |

(a) 63.3 (b) 61.5

(gc) 59.4 (d) 57.2



Sonu and Monu together can build a

Mo 7 —x< wall in 6 days, while Monu and
Q é 12. ¥ Mohan together can build the same
ﬂh ﬁ”' | 2 } wall in 12 days. Sonu and Monu work
0.3 0 —— together for S days after which they
15 Malut mn& both fall ill. The remaini work is

completed by Mohan i 10 dhys. The
ayment for the work done is

Rs. 3,600 which is to be divided
among three persons. What will be

@ Sonu’s share out of the total

,K payment?

qi+ 3R A9 fday v dar 6 el

q 991 9&d 7, odfe #I9 SR AIEgA

ety ST AR &1 12 fear |§ 9




Hohd = | G- AR 919 5 fol d& &
g1 $M dd 2 foge §g d <Al
MR s W 2| A9 S "iEd gRI

10 feat A g fear mam feg g
&1 BT Hd HIAE 3,600 6. ford o=

afteal & &9 9ieT ST 81 &

A ¥ 9 99 b1 e aar ghn?
@ \@,R{ 1,800 (b) Rs. 2,000

(c) Rs. 1,500 (d) Rs. 1,200




A big joint family has 4
grandparents, 4 parents and 8

cousins. The average age of the
grandparents is 74 years, that of the

QG‘G“' 2'32'} l_’F6 parents is 58 years and that of the

cousins is 22 years. What is the

{ 6 average age of the members of the
4y family?

E Udh ds UY URAR ¥ 4 <1141, 4

. qrarT—fudar 3R 8 IdR HIs—d8d T |

©""’” qIel-<Iql @I Jlad Jg 74 9,

(a) 32 years (b) 65 years Arar-faar ot 58 ad AR FAR ArAl

@ Idud (Y 22 9§ 2| RAR @
M ycars (d) 20 years W aﬂ' aﬁ‘w 3"-{[) T é‘?



The cost price of an article is Rs.
2,100. What should the marked price

of the article be so that after a
discount of 20% the seller still

makes a profit of 90%?
050 . ;

199 —s Uh 9% BT I eI 2,100 5. 9& &I
dfba gea fda-m s-m arfey arfe
20% P B @& d1q HI fadpdr 90%
DT TH HHT Hh?

, _AZ) Rs. / 9/3 Rs. 3,100.5
D§€ /{]Rs 4200/ sa/(z.s



For an item a manufacturer gains
12%, the wholesaler gains_10%, and

the retailer gains 15%. Find the cost

s price of the item if its retail price is
Sh6r2-x(i2 Rs. 56,672.
e —

foel avq & fav fwiar & 12% &1
l,&%&[’xu} ™ Bldl 8, Aid fasar &1 10% &1
dami gar @, 3R gewr fasar &l

D 15% &I o9 gldr 2| afe awq &l

S . YT eI 56,672 B. &, dl SUDI &HY

" TR SR A
IR )%Rs m_ggowf(ns 465@_)(

>o:) Rs. 32,565 (df Rs. 34,500
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divided into 3 parts. The
fecond part is 1/4 of the third part
and the ratio of the first and the
third parts is 3 : 3 Find the ratio of

the third part to the total amount of
money. e

370 ©. Bt 3 WY N aier W 2
GURT AT AR AR &1 1/4 = 3R
Ugad 3R R W17 &7 U 3 : 5

gl AR 91T 9 & IR &1
IUTd ST DI |

20 : 37 (b) 10 : 41
(c) 12 : 23 (d) 15 : 43




A hollow cylindrical iron pipe has its

/ \/ internal and external radii as 14 m
nd 21 m, respectively, and its

Q}t (’3;)"{ ']L-?J[ (7)(3$;elght as 14 m. If this pipe is to be

painted all over, find the area to be
painted.

e Uh GiEa d-TOR dlg & 913y &l
IaRd AR 9 I H99: 14
flex 3k 21 Hiex €, 3k s SaAE

MM_DV\ 14 Hiex 2| Ife 39 UISY &l & 8

dc fear s 2, i fer WA
wﬁawaﬁ'l Q

A@l 3562 m? [/1{)4620 m?2
X) Q m? )d] 4000 m?




A, B and C have salaries in the ratio
2 :3:5 in the year 2018. In 2019
they got an increment of 10%, 15%
and 20% respectively. In 2020 only
A got an increment of 20%. What is
the ratio of their salaries in 20207?

q99 2018 § A, B3R C &1 dd-1 2 : 3 :
5 ® 3FUId H 2| 2019 H Sv HU:
10%, 15% 3R 20% &1 gfg el
2020 H ®dd A dl 20% B gfg
frefi | 2020 94 S9T@ &I 3UTd
T 27
(a) 42 : 15: 20 88 :/115 : 200

(b) 81:11:20 (d)22:115: 30




A cylindrical vessel with a base of
radius 15 m and height of 21 m is

filled with water to a certain height.
10 spherical balls of radius 1.5 m are

dropped into this vessel. By how
much will the level of water rise in

the vessel?

15 flex 3sar iy 21 fiey SaE =
AR 9Tl U «dIPR dd-d Tdh
fiRaa Sarg a@ urll 4 ¥ gam 2|
15 flex s &Y 10 MadR i
39 gd- ¥ Srefl ol 2| sd9 & urh
&1 X fhd-T 9¢ S1g?

(a) 50 cm (b) 60 cm @
(c) 40 cm (20 cm
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A sum of money invested on
compound interest for 2 years at
20% interest per annum would fetch

Rs. @ more as interest if the
interest is compounded half-yearly
than yearly. What is the sum

invested?

20% 9fd 98 2 98 @& fau aHdfg
vl U¥ SR foar a7 g9 482 w0

e BT, Ife <O 9fie w®u 4
3 81 & ¥ W) Id—agifife wu 4

o 1| i3 |&ar 87?

I Rs. 20,000 (b) Rs. 22,210
(c) Rs, 19,120 (d) Rs. 24,100



What profit per cent is made by
selling an article at a certain price if
by selling at 4/5th of that price there
is a loss of 12%7?

Udh 9% &l Ud ¥ad Jed W d9av
fpam oA wfoera ura fear sirar 21
Ife S ¥ @ 4/5 H 499 W 12%
@1 eI+ gl |

(a) 5% (b) 3%
(c) 12% uﬁ%



85 g of sugar solution has 30% sugar

in it. The quantity of s gar/ that
uld be added o the sqlution to
make the quantity of the sjgar 65%

] in the solution is $7.
35um%ﬁ7ﬁ$ﬁmﬂﬁao%iﬁ:ﬁ

\_/2 gl 39 65% ¥4 @ fau =iad A

foba A= ey s =arfag?

\Nssg (b) 110g

(c) 90 g (d) 100 g



A boat covers a distance of .1 km

against the current of the stream in
%

half an hour and a distance of 3 km

in the direction of the current in 30

minutes. How long will it take for
the boat to go 8 km in still water?

Udh A9 g1 & faudila fesm 9 1
foilt @ g8 amed 82 H IR arRT D)
feem 7 3 f&ft @1 <& 30 fse ¥ @3
&l 21 IMd Ut H 19 b 8 fH
aaﬁﬁﬁmmwaﬁ

(a) 2 hours 40 minutes
(b) 2 hours 15 minutes

(c) 2 hours 25 minutes

'-\-:ﬁ-)-ﬂ‘ hours



Which is the smallest 5-digit number
that is divisible by each of 54, 120
and 96?

5 3fdl ® HeQ BICT G&AT B 2
ol 54, 120 3R 96 ¥4 4 UdP 4
faareg 27

N 14260 (i) 12960

) 18280 ‘).)’ 17280

. Chack ahil Y3 T



A book needs to be typed. A typed it

,S 8 in 15 days, B types it in 12 days, C

' ,'10 types in 20 days. D types in 8 days.

2 [O If A and D work together as team

7M VENUS, B and C work as team

20 ‘\AM MERCURY, and A and C work as
Y B

team MARS, which of these three
teams will complete typing the book
first?

Udh fhdid TISU &Y &I oToxd 2] A
4 39 15 fe o <rzu fear, B 4 4
12 fear # <ersu fear, ¢ 3 39 20
fei ¥ <rsu fpar) 8 fes & D A
crsy fear) afe A 3k D &9 VENUS
d %I A TH 91 HH Hd @, B 3NN



C M MERCURY & ®U ¥ &9 &3d
2, 3¥ A 3R ¢ ¢ MARS & U H
HH HYd B, o 9 o9 W A 4@
i H I ugd fedrd Ts9 BT
gRT HA?
(a) MERCURY

\_[BVENUS
(c) MARS

(d) All teams take the same time



A completes one-third of the work in
S days. He is then assisted by B, and
they together finish the remaining
work in 6 days. B alone can complete
the entire piece of work in

A Uoh fasrg &M 5 faAr § qr1 oxdn
2| Y S9 B g1 Wadl YalH &I
ot 2, 3 3 fAaar Ay o1 &) 6
fesit o g1 H%d 21 B b [R1 B
fhast fe=if & S IPpar 2 |

\_‘m}: days (b) 18.5 days

(@days (d) 20.5 days
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Five consecutive even numbers are
written in descending order. If 6, 8

H

and 10 are added to the first, second
and third numbers, respectively, and
13 is added to each of the last two
numbers, the new_ sum of the
numbers becomes 1@0% of the sum
of the initially given consecutive

even numbers. Find the average of

QG /=S the initially given three middle
)00 - Qpumbers.

S
$0

e

Urd HUNTd 99 910 3aNial $H H

ordl 2 | afe ggell, gadl AR
T =T 7 HH9: 6, 8 AN 10 WIS
feo oo 3y sifaw < 9w A 9



yd® H 13 ois fear wie, ot aamsn
ST AT AT IR H & T8 AAR
99 9B D AT DI 120% Bl SIIdT
2] URT & & g I usm wwen
&1 AT AT DI |

ﬁ 50 (b) 46

c) 49 (d) 47




A horse is tied with @ong rope

at each vertex of a field that is in the
shape of an equilateral triangle. Each
of its sides is at least 14 m long.
What is the total area of the field
that is grazed by these three horses?

[Use n=§]

Wméaﬁwﬂmﬂa?u—&m?ﬁﬁ
R 7 #Hex odl =i 9 qr°r TAar @
Sl Ud querg S & PR &7 2 |
SUD! AP Holl H 4 HH 14 HicN
(/4771112 ddl 81 SU Wd T &d d9A%d fhadAr

DISA™" s R 2 9 wR =@ &
(c) 92 m?2 (d) 74 m2 (1 _ 55 7)




/gg&v@’é\

79.989% of 599.99 + 32.99% of

400.009 - 48.062% of 149.98 =

e



A swimmer, whose speed in 15 km/h
in still water goes 30 km
downstream and comes back. He
takes 4 hours 30 minutes for the
whole journey. What is the speed of

29_-[- 3L7_ =4.< the stream in km/h?

[Stx

[S-2

TP A, @t wfa @i gt 7 15
felt /eier ?, amr @ IqHe 30 fH
GITdT @ mﬁmmmgl tL_\ﬁ.
AT ¥ 99 4 " 30 fre @1 W
a2 gRT @Y Wiy fef /der A
T 27

(a) 6 (b) 3

(c) 4 L«[ﬁ




Exam Trend

Anu WO pages of a book in
10 hours. Anu and Mohit together
can type 270 pages in 4 hours. In
what time (iﬁ—m)m)nMohit alone
type 20 pages?

3 Ub fbdid & 40 ds 10 € 4
Clsd X Hahdl = I AR HAifed
iy 54 g2 # 270 U9 <T84 &
Hhd @ | Hifzd Idd fead w9g

(gel ¥) ¥ 20 49 <139 87

(a) 10 \/(‘Eﬁo

(c) 30 (d) 40



2
The value of (1 + (1 -2)! +2 - (1 - 2,—‘2)
is:

(o1 (b) 2

(c) O (d) -1

_ C
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Sumanth invested a sum of money at
r% rate of interest per annum,
compounded annually. The sum
invested amounted to Rs. 6,05,000
at the end of two years and to Rs.
8,005,255 at the end of five years.

00D Find the value of r.
IQ” gq9d 9 ufd 99 r% &6 ¥ W) U
‘eiﬂs‘wﬁﬁa‘ﬂaﬁ ol 9iffe wu 4
1000 [ waiRm @ 2 Paw @ T

u 6,05000 . & 98 & 3fd ¥ Ufg 9

® 3d A 805255 %. &, ol r B HME

SITd aﬁﬁ'&@ @) 12 b) 8
\{ey'10 (d) 9




The value of

23+*1 _ ok x Q"2

2F x E*S _ 02 x ik

(b) 2

IS:



15 20 22
If x+l=6 and<=2 e e )then

220 + 222 + 224

AL = ¢ .
” the ratio of — ] y is
2X° +2-5x
9% @ M12:7 ()57
2mty2-Sx (c) 7 : 12 (d)7:5
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